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22. r Prime Minist 'I'
Dr. Manmolwn ingh . forlll 

of India di d in I) ccmhcr. O 4· When was 

he the Finan �ini. tcr of 1ndin ' 

n) 1986-1991 
b) !99'1-1996 
) 1 96-J 998 

d) 1999- 004 
/ 

n air ran met an accident' hilc lallding ( on

_ D cembcr, 2024 ) resulting in dea{ll of 179 

persons. \\ h re did the accident take p lace? 

fr 
outh Korea 

b) Azerbaijan 
c) Nepal
d) Nigeria

24. Jimmy Carter brokered peace treaty between
t which of the countries listed below ?

_.a) Israel - Lebanon 
b) Israel-Egypt
c) North Korea - South Korea
d) Israel - Saudi Arabia

25. \\Tho is the Union Cabinet Minister of Civil 
Aviation, Govt of India ?

a) Dr. Virendra Kumar
b) Shri Kinjarapu RamMohan

Naidu 
c) Shri G. Kishan Reddy
d) Shri Chirag Paswan

26. Who is the Union Minister of State of Youth
Affairs and Sports , Govt of India ?

a) Smt. Savitri Thakur
b) Smt. Raksha Nikhil Khadse
c) Smt. Nimuben Jayantibhal

Bambhaniya
d) Sushri Shobha Karandlaje

27. Who is the Cabinet Minister of Tourism, Govt.
ofOdisha?

a) Shri Kanak Vardhan Singh
Deo

b) Shri Rabinarayan Naik
P1" Smt. Pravati Parida
d) Shri. Binhuti Bhusan Jena

28. Who is the current Governor of Uttar
Pradesh? 

a) Ms. Anandiben Patel
b) Ms. Baby Rani Mau 
) M rr . rya 

� s .. am llisai Sound . 
d . arara.ian) Ms. Anusu1ya Uikey 

29. Who is the current Speaker of Odisha
Legislative Assembly? 

a) Shri Suryabanshi Suraj
b) Smt. Pramila Mallik

fr Smt. Surama Padhy 
d) Shri Bhabani Shankar Bhoi

30. Dr. Manik Saha is the current Chief 
Minister of which among the following
states?

a) Meghalaya
9) Tripura
c) West Bengal
d) Telangana

31. Complete the given series by finding
the missing tenn.

2821V,?,34,3·9._ 
a) 34
by35 

c-CJ 36 
d) 37

32. Consider the following two statements.
Statement-I Akshay's movie has crossed the
300 crores mark at the box-office.

Statement-II His movie is nominated for the 
Oscars. 

Choose the correct option by analyzing which of 
the statement is cause and which one is its effect? 

a) Statement-II is the cause and statement­
I is its effect. 

b) Statement-I is the cause and statement·
II is its effect.

c) Both the statements are effects of some
common cause.

ft Both the statements are effects of
independent causes. 
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3 consider the followino in" 3 . o ionnation
R3

.-e, Raider, Rattler R 
0 , azor R 

Rictor and Rogue are si tting it� c�per, 
facing at the centre . a circle 

• Reaper is the neighbour of Ra 
• . < ge and Razor .• Rogue 1s not between Rictor a d R 11 attler. 

• Rictor is to the immediate rigl t f 1 0 Rage. 
Which of the following perso ns are · · 
adjacent to each other from left to ri 

�lttmg 
order shown ? ght Ill the 

a) Raider, Rogue, Rattler
b) Rktor, Raider, Rattler
c) Rattler, Razor, Rogue

jY'Reaper, Razor, Rogue
34. Select a figure from amongst the A . nswer 

figures which will continue th . e same 
series as established by the problem
figures. 

Problem Figures 

tt 
tt tt tt. tt 111! iitttt
iitt tt tttttt tttttt tttttt

---

An�wer Figures 

tttt 

2 3 4 

I 
b) 2
c) 3
d) 4

35. Find the wrong number in the series:
125, 126, 124, 127, 12}, 129. 

., .r . 

a) 126
b) 124
c) 123

/129 

36. Select the related work from the given

alternatives 
Person : House : : ? : ? 

_JJyiion : Den 
c) Nest : Bird 
c.l) Farmer : Crop 

37. Select the option that is related to the

third letter cluster in the same way as the
second letter cluster is related to the first
letter cluster. 
SE1�pNAL: OEAALN�� :: FRUITS : ?
11 a) BRUVDR 

b) BRUART
c) UJFRST

�lUSTRF 
38. Select the letter cluster form among the 

given options that can replace the
question mark(?) in the following series 

�sx, 1'}QW, J�V, �V, ? 

a) BLT ,
b) D�S

�:T ✓

39. In a certain code language, "STA TE" is
written as "38401405", and "EXI LE" is
written as "5489245". How will 
"ARENA" be written in that languag� 

a) 21810142
b) 1365�
c) 21181014

$(36�1!).
40. Which of the following will come in place

of the question mark (?) in the following 
sequenc�1 '? � . 1 

..!._iDT, LSQJO, in�.14, 25�19,? fl,l? V 
a) 30V20 

.. 

,.-br30V25
c) 30V24
d) 29V25

(Q41-44) If 'A+B' means 'A' is daughter of 'B',
'A-B' means 'A' is husband of'B', 'AxB' 
means 'A' is brother of'B'. 

41. What does the relation 'PxQ-R' show?
a) P is son-in-law of R
b) P is brother of R
c) Ris wifeofP

� None of the above 
a) Aquarium : Fish ✓ l 
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• i st•,t •nl nts do-� 47. Select the option t�1al repr e
d
sents the

correct order of the g1v�n w�r .s as they

would appear in an English <l1cttonary. 
42. Which of the fo1lt1Wllll.1- · ' 

not hold? 
a) + 13.-1 C 

0( -t},:
c) ·- B + ( 
d) + B - C

0 xl;', which
43. From the . tntcmcnL • ' 

t is not
of the following tat ,n,cll 

nee es� ari lv true. 
8) B is ·the brother of A

b) is the brother of A

i D is the brother of C f
d) A, B. C are male , 

44. Fro m the statement P-Q+RXS, how is

the Q related to S? 
.?t Niece 
... b) Siste r 

c) Mother 
d) None of these

45. If Southeast becomes East and
Northwest becomes West and all the 
other directions are changed in th·e same 
direction, then what will be the direction 
for North? . � l
a) Northwest 
b) Southeast

1. Absorption 
2. A_bso\utcly
J,- Abduct 
a,, Abbreviation 
5. Accurate 

a) 3, 4, 2, I, 5

� 4,3,2, 1, 5

c) 1,2,3, 4, 5

d) 3, 2, 4, l, 5

48. 'M' is the husband of 'N'. 'O' is the
mother of 'R' and 'N'. What is 'O' to
'M'? 

a) Mother
b) Sister
c) Aunt 

rother.:.in-law

49. Four words have been given, out of
which three are alike in some manner
and one is different. Select the word that
is different.
a) Asia.
b) Europe

ft'Russia 
d) Africa

c) Southwest
� Northeast J 50. Pointing to a boy , Anuradha said , "He 

is the only son of my grandfather's only 
child." How is the boy related to Anuradha? 

46. Eight friends A, B, C, D, E, F, G and H

f 
are sitting in a straight line, all facing the
North.F is sitting between D and G. B is 
sitting between H and A. E is third to the 
left of G, who is sitting at one of the 
�orners. H is third to the left of c. Who 
1s sitting between A and E? 
a) G
b) H
c) B
d) C

a) Daughter's son
b) Father's brother
c) Son

�rather 

➔51. If DIG=41
\FACT='?

a) 63
b) 45
c) 61
d) 53

and GOAD=SS , then 
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n)ABABAB
b) ABABAB
c)ABAB AB
d)ABABA 13

53. In a certain code lnnguage '+' represents '+' , , , , - represents '><' '+'represents '+' and , x, . : ' .. 
. 

1ep1esents ,_, Fmd out the answer to the fol . · question. low mg

54
. 

\ 

d) 18 ··

S_elect the option that is t:ted to thethird term in the same way as the second
term is related to the first tenn?

)�ORY: Z:W�PJ :: ��AM:? 
a)NFDQB

))DSFCN 

c) SNFDB

jrBQpZL 

55. In the following question , a word is
followed by four other words , one of
which can't be formed by using the
letters of the given word . Find the
word.

PRECIOUS:

a) PIRE

b) RISE
c) ROSE

)---IIBST 

5(>. If lfouparrrn sllldics i she will rass her 
exam . Rilllpurna foi Is the exam .
Which one of the following can be 
concluded from the above statements?
a) Rituparna studied for the exam
bf tWuparna did not study for the exam

<c) Rituparna may or may not have
studied for the exam . (No definite
conclusion) 

cl) None of the above

57. Manorama starts walking northwards
and after a while, she turns to her right.
After walking some distance, she turns
to her left and walks a distance of one
kilometer. She then turns to her left:r;i�: which direction is s

7
ing

�West e_ 

c) East
d) South

58. If two days before yesterday was
Friday, what day will be day after
tomorrow?

a) Monday
b) Sunday
c) Saturday

,_,Wednesday

59. Assertion(A)

Amartya Sen was awarded the nobel
prize for Economics.

Reason(R)

Amartya Sen has made an invaluable
contribution in the field of
developmental Economics.

)YBoth A & R are true and R is the
correct explanation of A 

b) Both A & R are true, but R is not
the correct explanation of A

c) A is true but R is false

d) A is false but R is true

TSGR-ENG-D-7 

\ 

https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/XhqWf9lSap


72 
Which of these is a de> · 111a1n
n) .com · nam 'Xt

.,,. 'llsion? 

b) http://
c) www.
d) /html

73. Which of these is an c�, xnn,pJc r I 
stornge? 

0 ' oucJ 

a) Hard Di k
)>1 Google Drive
c) USB Drive
d)RAM

74. What does "VPN" stand for?
a) Virtual Personal Network

�Virtual Private Network
c) Verified Protected Network
d) Virtual Protocol Network

75. Which of these is the fastest st d . orage ev1ce? 
a)HDD
b) SSD
5),CD-ROM
d) Flash Drive

76. What is the shortcut for undoing an action in
Windows?
a) Ctrl + X

,11) Ctrl + Z
c) Ctrl + Y
d) Ctrl + U

77. Which component connects a PC to a
network?
a)RAM
J1) NIC (Network Interface Card)
c) Power Supply
d)GPU

78. What is the typical file size of a byte?

.J}-8 bits
b) 16 bits
c) 4 bits
d) 32 bits

79. Which key is used to refresh a webpage in a
bro scr?
a) F5

h) F2

) FJ

d) 1.1 I

80. Which menu is used to change the page
oricnlation in MS Word?

a) Insert
J) Lay�ut
;),) Review
d) References

81. What is the function of the "Find and
Replace" tool?

yJ Replace one word with another 
throughout the document 

b) Count the number of words
c) Highlight important text
d) Create a summary

� Which of the following is an example of a 
\ cell reference? 

a) Al
b) 123

c) #REF!
d) ABC

83. What is a pivot table used for in Excel?
a) To calculate average
b) To create charts
/' . c) To summanze and analyze data
d) To apply conditional formatting

84. What is the shortcut to insert a new
worksheet in Excel?

a) Shift+ Fl I
b) Ctrl + Fl
c) Ctrl + Fl I
d) Alt+ Fl
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99. What does the formula in Excel
always begin with ?

I 03. What is Mamala's overall percentage of
marks in all subjects together? a} +

ret' =

c} #
d} $

I 00. What is the purpose of the
"CONCA T" function? 

a) To filter data
b) To so1t text alphabetically
c) To count text entries

a) 68.31
b) 71.24

/)72,83 
d) 75.65

I 04. Among the students, who has secured
the second highest marks altogether?
A Rakesh

b} Aparna

� To combine multiple text strings into
one 

c) Nandan
d) Smaranika

Q. (I 05-109): Study the following bar-graph
carefully and answer the questions given below.

Q.(l 01 to 104): Direction: Study the table carefully 
to answer the questions Export of Pearls (in crores of 

rupees) 
� 

PERCENT AGE OF MARKS OBTAINED BY SIX STUDENTS IN SIX lf-.4 
DIFFERENT SUBJECTS 

Subjectc;> Science Odia Hindi Maths 

(Out of (Out (Out (O�t 
100) of of of 

100) 100) 100) 
Student 

Nandan 85 67 '84 70 

Mamata 80 � S.6 60 

-
. 

Nrusingha 90 5.1 ;88 6i 

Apama ·65 18., 9,0 ?5 

Smaranika 70 82 /86_ 80 

Rakesh 60 84 /80 65 

t-�q,, 0 <hA 

English 

(Out of 
100) 

70 

80 

50 

70 

60 

�o 

History 

(Out of 
100) 

78 

}8". 
f,6 

11'1 
QI 
Q.I 
a. 

2 
0 
� 6.5. 

V 5.2 

� 

i I l--
2001 2002 

1,0.8 

7.& 

4.5 

2003 2004 2005 2006 2007 

Years 
6& �V' E; ;�"\ P,1 _., 
72 

J6 

(j 105. The average export of pearls for the

IO 1. Whit& student has sc6red the hi hest g 

vf"IG,, give
� 

p
rtd 

(in crores) w
� cl C?t

• c) 9.73 I marks in all subjects together? 
a) Nrusingha

�Apama 
c) Smaranika
d) Nandan

102. What are the total marks obtained by
Rakesh in all the subjects together?

a) 410
� 415

 
d) 8.85  fJJ� 106. In which year was ther maximum q'Jf0�

perc�ntage incr_ease in export of pearls to ( '. 

Y
<that m the previous year? 

1/ a) 2002

  b) 2007 
C) 2005
d) 2004

c) 450
d) 456
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ti e export above
rs was , 

I 07. In how many yea �. d?• 11 pcno • average for the give 

a) 2
b) 4
c) 5
d) 3 . p., 1· 1.5 of '-1ears 

I fi llowtn° " .1 I 08. In which oft ie O 
of �arls around Rs 9

"as the a, erage expoi1 p 
crores? 

a) 2002 and 2003
t,) 2003 and 2004
c) 2004 and 2005
d) 2005 and 2006

· 1crease inI 09. What was the percentage u 
export from 2006 to 2007?

2 a) 16 3 %
b) 19% 
c) 20 % 
d) 33.: %

3 

(Q. 11 Oto 112): Study the infonnation carefully to
answer these questions.

In a team, there are 240 members (males and
females). Two-third of them are males.
15% of males are graduate. Remaining 
males are non - graduate. Three - fourth of 
the females are graduate. Remaining female�
are non - graduate.

11 O. What is the difference between the number
of females who are non - graduate and the
number of males who are graduate?

a) 2 

b) 24
c) 4

d) 36

· 1 i 1. What is the sum of the number of females
who are graduate and the number of maleswho are non - graduate?

a) 184
b) 96

c) 156

d) 196

1 12_ What is the ratio between the total 
number of males and the number of femaleswho arc non -graduate? 

a) 6 : 1
b) 8: I 

c) 8: 3
d) S: 2

(Q. t 13 to 115): The following line graph gives the
percentage of the number of candidates who 
qualified an examination out of the total number of
candidates who appeared for the examination over a
period of seven years from 2008 to 2014.

Percentage of candidates qualified 

to appear in an examination over 

the years 

90 

80 

70 

80 80 

� 60 
2 50 
� 40 
� 30 

20 
10 
0 -------- ---- . ---------- -- -------- -----

2008 2009 2010 2011 2012 2013 2014 

Years 

113.In which pair of years was the number of
candidates qualified the sam�?

�2009 and 2011
b) 2009 and 2014 
c) 2012 and 2013 
d) Data inadequate

114. If the number of candidates qualified in
· 2012 was 21200, what was the number of

candidates appeared in 2012?
a) 32000
b!�500

ft =�500 
d) 25000
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If the total number of . 
115: 2010 and 201 I togetl

cand1dates appeared �
1t1 b 

1er was 47400 a 1 ) 69 34 
the total num er of candidates 

. , then a : 

hese two years together w . qualified in 1 b) 65:34

t a) 34700 as.  c) 63:44

b) 32100
d) 63:38

c) 31500 / 
119. What is the average number of watches

d) Data inadequate d s ? 

a) 234
sold in July by store Q, Ran • 

Q I I 6 to 120) : Study the folio . b) 225

( ·the given questions. Wtng table and 
� Ans'''er 

d) 229
1 

Number of watches of Brand 'X' 
1·20. Number of watches sold by store T in

(P Q R,S,T) during 5 months 
sold by 5 

dorcs ' ' 
. 

· Store.+ Y,.- Q R 
Months T 

April and July together is what percent more
lhan the number of watches so_ld by store P

 in July

: 

:� �
March 297 234 189 

254 209 197 

158 215 218 

June 255 198 225 

JulyG 360 

235 275 . ' 

187 290

108 287. 

189 407 

c) 9� 
I -

9 

d) 92! 
3 

<t \ 
J 16. The number of watches sol by storer 

� 121. Subhakalyani paid% of a bill. If< 400 of ) 
the bill is still due, what was the total 
amo

�
nt ;���e bill?increased by what percent from March to 

June? 
�48 

b) 45.5
��1000

c) � 1200
c) 42

� d) 43.5
d) �1800

� 122. Three numbers are in the ratio 4.: 5 : 6 and 

117. What is the difference between total
number of watches sold by store R in June

\ 
and March together and to(al number of
watches sold by store Q in the same months \tj\ together

\ a) 17
b) 14
c) 24

rs 
118- What is the respective ratio between total

number of watches sold by store P & S
together in April and total number �f

Watches sold by the same store together m
May?

their average is 25. The largest number is: 
a) 41 .,. _ ?> 
b) 36 'l--'° :;S � 0 

fr30 
d) 28

123. Arabinda is 40 years old and Kalinga is 60
years old. How many years ago was the ratio
of their ages 3 : 5?

a) 5 years
b) 20 years

.--C-)/10 years 
d) 37 years

c 

-1111111111111111111111111111-------�=--------

https://applink.adda247.com/d/XhqWf9lSap


6% of 241) X 500 :::: \ I JO. A boat covers a distance of 30 k . rn in 2�
(0.08% of 363 + O. t, hrs running downstream. While i return· 

a) 8.682 � 
b) 86.82 o,t,o 

covers the same distance in 3� hrs 
1ng, it

h b . . 4 . What. 
c) 846.2

the speed oft e oat in stil l water? 1s 
a) 14 km/hr 

d) 868.2 b) l 6 km/hr
1 o vcss Is for� 12000 c) 18 km/hr

125. Kadmnbini boug l�rofit cqunl to the selling  d}- None of the above
and sold thclll nt n I 

11. ,,rice of cnch  c' 
. 1- The sc ing pncc of 4 vcLsc s.  

vcss-c1 is: 
3 J • How much_ of coffee costing �36_60 

8 � ?00 be mixed with 63 kg of coffee co 
r Per kg 

< 7_5 

 
17.10 per kg, so that the mixture :'�g c� 

c t 750 , 24 per kg? 03l�

d � 775 a) 30.5 kg
b) 33.5 kg

1 6 p began a business wiih < 45oo 311d
f 

w
l 
as 

c) 34.5 kg- · 
Q ,·th < 5400. l · t 1e

joinro afterwards by " 1 

d .
. d d in d) 39.5 kg

d ft! ,ear were 1v1 e 
profits at the en o 1e ) 

the ratio 2 : 1, Q joined the business after:

a) 4 months
�5months 
� 6months 
d) 7 months

12 7. If a job takes 12 workers to complete in 4 
hours, how long should it take 15 workers to 
complete the job? 

,J!),- 3hr 12min 
b) 3 hr 24 min
c) 3 hr 30 min
d) None of the above

128. In I minute,� of a bucket is filled. The rest·
of the bucket can be fi11ed in:

) 3 a -mmutes
5 

b) 1 minutes
c) i minutes

132. At what rate percent per annum will a
sum of money become double in 8 year ? s.a) 11. 2% per annum

� 12.5 % per annum 
c) 13.5 % per annum
d) 15% per annum

133. What largest number of four digits is
exactly divisible by 88?

a) 9768
p) 9944

- c) 9988
· d) 8888

.• 3 2 134. By how much is - th of 52 lesser than - rd

of99? 

/J27b) 42
-c) 49
d) 66

4 3 

d}- 7 t:7' 
3

mmutes
135. � 1250 at 12% per annum co�pouuded al

annually will amount tot 1568 m: b I 129. Two trains approach each other at 30 km/hr and 27 km/hr from two places 342 kmapart. After how many hours will th a) 5 hours ey meet? 
�hours 

c) 7 hours
d) 12 hours ,

a) 3 years
b) 4 years
c) I year

� d) 2 year� _l � 

I 
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Clinton alone can do a . . 136· 1d Joseph alone ca,1 d Work m IO daysar o the sa . 15 days. In how tnany da _me work inaether complete the ys will theytoo 6 days saine work? .;fiSdays 
14 I. The LCM and HCP of two numbers are .126and 9 respectively. If one of the number is18, then what is the other number? 

Ji) >3 b) 36c) 4 daysd) 7 days c) 84d) 24,,7 A goods train 350 111 lo JJ . ..., ng p tunnel of length 1250 111 •. 8 asses through a 142. Average of 15 numbers is 53. A number ifd . f in O sec WI . the spee o the train? · lat 1s i removed, the average of 14 numbers a) 58 km/ hr becomes 55. Which number is removed? 1b) 64 km/ hr a) 23y;2 km/ hr b) 24· d) 87 km/ hr .s)__25 � ....._:;;; �d) 26!38 A shopkeeper marks his go d 8 · . o s at %more than their cost price and II 143. Salaries of Rahim and Karim are in thef O 
a ows a discount o 481/o on the mark d . . ratio 2 : 3. If the salary of each is increased. e pnce. His Joss percentage 1s: � by �2000, the new ratio becomes 40 : 57. a) 7¾ % Cu1/ . \� What is Karim's present salary?

b)3½% � :�����c) 8�% c) � 14600d) � % d) � 20000 / 
139. Mitali travelled from her home to heroffice at a speed of 20 km/hr and walkedback at a speed of 5 km/hr. The wholejourney took 4 hours. The distance between ""-her office and her home is: a) 16 kmJw"l O kmc) 8kmd) 6km

144. A sink contains exactly 12 litres of water. � i :/!If water is drained from the sink until it '-.:: holds 6 litres of water less than the quantity f)drained a�ay, then how many litres of water were drained away? 
� � c) s d) 9 --::-- � e< 145. The angle between the minute hand and the140. Five - fourths of a number is greater than '!\_ "6J �our hand of a clock when the time is 4.20three - fourths of the number by 6. Find the ,✓/ is: a) 00 number. �3/- c5l b) 50a) JO * .,.E}' 100b) 14  
d) 15°� 12�8 
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. 
in three different

146. Aparna invests money
·sand 12 years

. 10 ycat. 
scheme. for 6 cat 

' . ,I interest
01 d 1 �% s11111 at 10%. 1 10 an · 

. 1 tion of each
• t tl1c cotnP rcspcct,vcl.'. . ..• 1 The ratio

I ·arnc int ' s . 
, heme .. he c.ct. 1 ll: s, 
r h r in .c-. tmcnt. i. : 

n) : 1: 4 
b) :4:()
l) - : 4 :­
d) < : - : ...

' 
1600 1gs at� 3.75 per14 . Ochal ratfl bought eg 

dozen. He old 00 of them at 2 eggs per 1
• · t 5 eggs per 2rup c and the r mammg a 

rupe . Hi- gain percent is: 
a) 4 %
b) 4 %
c) 46%
d) 48%

148. What decimal fraction is 40 ml of a litre?
a) 0.4

.,)3]0.04
c) 0.004
d) None of the above

149. A car driver travels to a place 150 km away at an average speed of 50 km/hr andreturns at 30 km/hr. His average speed forthe whole j_oumey in km/hr is:a) 36.5 
b) 37

,_9'37.5. · d) None of the above
150. What is the sum of the · squares of the. numbers from 3 to 1 8? 

a) 2104
b) 2105
c) 2101
d) 2106

I ,.  
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